v
NPO
v
YR12Z 5
1
. 1
R5
66
70
144/217 o
R5
8356 !
(RB9.1 80.0%
17
RS 39
13




No




SDGs17

10

11

12

13

14

15

16

17







I 1 _ 1 _ 1 I P I 34 p
1-1-2 1-1-1
NPO
v
R7 R5 R12 5 R12 5 R12 5
1 1 1 1 836
, ) (R5.9.1 -
R5
17
39
59 150 s R5
65
72 66 72 66
217 142 70
217 156 217 144 218 156 14;5/217 152/218




X

1-1-1

<mon

<mon

<mon

<moOon

<mon

<mon

<mon

<mon

<mon

35

35

35

35

35

35

35

35

35

No

NPO

NPO

No

No




1-1-1

34 P

SDGs17

10

11

12

13

14

15

16

17







1-1-2 |

P

36 P

1-1-1

1-1-1

NPO

R7

RS

R12

R12

R12

11

15

13

13




| 36 P

1-1-2

<moONO

<moOn

<moOn

<moOn

<moONn

<moONO

<moONn

<moONO

<moONO

<moOn

37

37

37

37

37

37

37

37

37

37

No

No

No

10



1-1-2

36 P

SDGs17

10

11

12

13

14

15

16

17

11



12



[ 1-2-1 | P ] ssr [ ]
LGBT

R R7 R5 R12 5 R12 5 R12 5
803 800 650 700 190 190
36,134 35,000 28,000 30000 6,700 6,700

27.0%
30.6% 35% 35% 27% 30%

0 500




EE

1-2-1

<mon

<mon

<mon

<mon

<mon

39

39

39

39

39

NPO

No

No

No

14



1-2-1

38 P

SDGs17

10

11

12

13

14

15

16

17

15



16



[(T22] | o
2019 153
121
146
118 (2024 )
R7 R5 RIZES Rz 5 =
0
38:3% 400 36.50% 40.0% b
157
0
18.8% 250 25.0% 7
6
65.8 . 699
- 750 — 75.0% 5

17



| 40P

1-2-2

<mon

<moOon

<mon

<mon

<moOon

<mon

<mon

<mon

<mon

<mon

41

41

41

41

41

41

41

41

41

41

No

No

No

18



1-2-2

40 P

SDGs17

10

11

12

13

14

15

16

17

19



20



[[1-2-3 ]

P

42 p

31
AMU
AMU
AMU

R7 R5 R12 5 R12 R12 5
B 552 600

B 46 5

B 36 3

3 B 45 5

AMU
AMU

21



| a2 p

1-2-3

<mon

<moOon

<moOon

<mon

<mon

<mon

<mon

43

43

43

43

43

43

43

AMU

AMU

No
1

2

AMU

No

-2

-1 1-

AMU

No

22



| a2 p

1-2-3

<mon

<mon

<O |[<Kmoo

<O |[<Kmoo

43

43

43

43

44

44

No
1

No

AMU

-2

-1 1-

-1 1-

-3 2- -2

-2 2-

2-

No

23



1-2-3

42 p

AMU

SDGs17

10

11

12

13

14

15

16

17

24



1-3-1 | | P [ asp |

Society5.0
Al RPA ICT
Al RPA
v
R R7 R5 R12 5 R12 5
13.2% 75.3%
100.0% 703 |B B 100.0%
5 5
56 400 30.10% B 6 3 B 60% 60%
54 58
7 B B
28.9 403 B B
7
99.1 99.3 . ) 99.3 99.5
7 99.31% B B 99.50% = 12
v
RPA Al

ICT




| a5 P

1-3-1

<mon

<moOon

<mon

<mon

<moOon

46

46

46

46

46

No

No

PDCA

1-3-2

1-1-1

No

26



| a5 P

1-3-1

<mon

<moOon

<moOon

<mon

ICT

ICT

Al

ICT

46

46

46

46

GIS
loT ICT

Al

Al RPA

ICT

No

ICT

No

DX

ICT

RPA

Al

No

ICT

27



| a5 P

1-3-1

<mon

<moOon

R6

47

47

No

No

No

28



| a5 P

1-3-1

<mon <mon <moOANn <moOnN <moOAN
m m m m <
Te]
al
o
N
™
©
©
—
o
N
o
1
Ts]
o
~ ~ ~ ~ ~
<t <t <t <t <t
o
o
o
= | N ™ < o
o
=
o
=

29



| a5 P

1-3-1

<mon

<mon

<mon

<mon

<mon

47

47

47

47

47

No

No

No

30



| a5 P

1-3-1

<mon

<mon

<mon

47

47

47

No

No

No

31



1-3-1

45 p

SDGs17

10

11

12

13

14

15

16

17

32



[ 1-5-2 | P | s [ ]
6-2-1
ICT
LAN
PR
2 LAN
Al G ICT
Al
R7 R5 R12 5 R12 R12 5
742 900 914 B 1,000 54’5504 70,000
ICT
SNS
LINE
LAN WiFi
3
) 22,721

DX

ICT

DX

DX

ICT

ICT

33



| a8 P

1-3-2

6-2-1

<moo <mono <moo <moo <moo <mono <moo
m m m m m < m
T
]
T
(S]
%)
=
7]
x
[a)
o o o o o o o
< < < < < < <
%)
=
7]
o
a
[od
a
o
= |« N — [N ™ < o
o
=
o
=

34



| a8 P

1-3-2

6-2-1

<moo <moo <moo <mono ([<xmon <moo <moo <moo
m m m m m m m m
o
@
=
%)
=
7]
%)
=
- 7]
(]
w
= =
= (]
T
(]
<
x
[a)
o o o o o o o ®
< < < < < s} s} <
=
<
-
T
]
o
= |« [N ™ < o — — -
o
=
=
<
-
o
=

DX

35



1-3-2

48 p

SDGs17

10

11

12

13

14

15

16

17

36





